Chapter 7 Task B Solution

a) 



For the first 5-year period:
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For the first GIC:
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For the second 5-year period:
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For the second GIC:
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For the third 5-year period:
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For the third GIC:
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For the fourth 5-year period:
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For the fourth GIC:
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For the fifth 5-year period:
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For the fifth GIC:
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For the sixth 5-year period:



[image: image12.wmf](

)

60

11

3501.0021

0.002

22 288.30

A

éù

êú

ëû

-

=

=


b)  
Total amount at retirement = sum of GICs + sixth 5-year amount


A = 56 446.83 + 35 028.94 + 25 179.68 + 27 184.90 + 23 167.51 + 22 288.30


    = 189 296.16


Find the regular monthly payment, R, that this amount will provide during their retirement years.
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The Ehrlichs’ monthly income will be $1062.96.

c)  
Answers will vary. Students might suggest starting with a lower monthly payment (e.g. $950) and increasing it by a certain amount (e.g. $50) every 5 years. They will then need to find the present value of each of these annuities and confirm they are close to $189 296.16. Alternatively, a bonus could be paid out each year. The present value of these payments would need to be subtracted from $189 296.16. Then the new monthly payment can be calculated.
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